Strand 5 – Population Graphs for Taiwan (2009)
The graphs below show the population of Taiwan in 2000 and the predicted population of Taiwan in 2050.  
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Use the graphs to answer the following questions.  Write your answers on a separate page. 
a) Draw a conclusion regarding the overall population change in Taiwan from 2000 to 2050.  

b) Describe two factors that may contribute to the predicted population changes from 2000 to 2050.  
Rubric for Population Graphs for Taiwan

Possible Correct Responses:
Conclusion:

The population in Taiwan will begin to stabilize over the next 50 years.

Population growth in Taiwan will slow down over the next 50 years.

There will be more older people and less younger people in 2050.

Other acceptable responses
Factors:

Reproductive rates could decline some (people of reproductive age having fewer children).

Longevity could increase (increased survival rate for the elderly).

Mass immigration to other countries for various reasons.

Increased access to healthcare or better healthcare provisions.

Other acceptable responses

3-Point Rubric:

Score 3

The response draws a valid conclusion regarding the overall population change in Taiwan from 2000 to 2050 and describes two factors that may contribute to the predicted population changes from 2000 to

2050.

Score 2

The response draws a valid conclusion regarding the overall population change in Taiwan from 2000 to 2050 and describes one factor that may contribute to the predicted population changes from 2000 to

2050.

-or-

The response describes two factors that may contribute to the predicted population changes from 2000 to 2050, but fails to draw a valid conclusion regarding the overall population change.

Score 1

The response draws a valid conclusion regarding the overall population change in Taiwan from 2000 to 2050, but fails to correctly describe any factors that may contribute to the predicted population changes from 2000 to 2050.

-or-

The response describes one factor that may contribute to the predicted population changes from 2000 to 2050, but fails to draw a valid conclusion regarding the overall population change.

Score 0

The response provides little or no correct information regarding population changes in Taiwan over the

50-year period.
Sample Student Responses: 

Response #1 (3)
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Response #2 (2)
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Response #3  (1)
a) In 2050 there will be less people from the ages of 0-49 but more people from the ages of 49-85+
b) Everyone in the 0-49 age will be all grown up in 2050 and there will be less kids. 

Response #4 (0)
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Response #5  (2)
B) The two main factors that may contribute to the predicted population, is the technology and the medicine.  The technology help because people invent machines to help people servive.  Medicine helps because I prevent sicknesses from killing more and more people. 

Response #6 (3)
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